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1 = HIGHLY ERIDIELE LAND . FOTENTIALLY HIGHLY ERODIBLE
@m@\\&b Z = POTENTIALLY HIGHLY ERODIBLE LAND CACULATOR VER 1.1
3 o= NIT HIGHLY ERODIBELE | WIND ERCSIION WATER EROSIDN
MAF C I HEL. R LS T SLOFE~ PERCEN SLOPE--LENGTH L&~ VALUE HE
MUID SYMEDL, SOIL NAME %  VALUE  VALUE CLASS VALUE VALUE VALUE MIN. MAX. MIN. MAK . MIN, mMa. BT/RE CLA
FRRH KRN HRRREN HRRRNRREEERERRRERER % RRR HRHNE HRURRE RERER HERERN REEREN HRRRE HUXRNN HENEE XN R®R EX 2T L LR T EEY X EE AWK ¥ £33
QORARR ABE ALBRIGHTS 1 100 0.3 1E6 BE ] k] = 400 Z
OQIPARC ARC ALBRIGHTS 1 100 0.5 125 = = 15 400 !
OOPAER AER ALLEGHENY 1 100 0.8 158 4 ] a2 100 &
AEC ALLEGHENY 1 100 0.8 128 4 = 15 100 400 i
OOPARE ARE ANDIOVER 1 100 Q0.8 1Z8 3 ] b 100 400 =
ARC ANDIVER 1 100 [} 128 ] = 15 100 400 i
AT ATEINS R 1 100 0.8 1ER 4 0 = 100 400 =
AVE ANDOVER 1 100 [0} 125 e 3 = 100 400 =
AVC ANDDOVER 1 100 0.8 128 =2 = 15 100 400 =
A ATEINS 1 EBO [ p 4 0 = 400 I
S ERNEST 40 Q.3 = e o 400 0.447
EEE BASHER 1 850 Q.8 5 (8} 3 400 )
QOPREER ERE EIRDSREORD Z 40 0.5 4 k] = 400
¢ BCC BEDINGTON 1 40 0.5 4 = 15 400
QOPRCC BCC BERKS Z Z5 0.3 3 = 15 400
QOPECD ECD BEDINGTON 1 &0 0.8 4 18 25 400 11,780
QOYRCD ECD BERKS z 28 0.8 i i 15 28 400 2,552 11,780
] QOYREDC EDC BEDINGTON 1 &0 0.8 4 & 16 400 0,971 B.11%
OOPEDC BDC BERKS Z E8 0.8 K] = 15 400 O B.11%9
QOYEDD EDD BEDINGTON 1 A0 0.2 4 15 £5 400 Z 11,720
PEDD EDD BERKS & 25 [ ) o] 15 25 400 Z 11.780
DPEDE EDE BEDINGTON 1 &0 0.5 4 8 25 400 B3 E0.444
RDE BERKS Z ER 0.8 3 8 25 400 5,890 20,444
J BEER EERES 1 100 0.2 3 3 2 400 Q.2a7- ) 1.9z
BKC BERKS 1 100 0.2 3 2 18 400 0,991 E0119
EkD EBERKS 1 100 0.8 3 15 =5 400 Z.EE?  11.780
BEE BERK.S 1 100 0.2 i Z5 1) 400 B.2%0 20,444
EBIRDSEORO 1 100 0.5 4 0 k] 400 O, Q85 0. 435
BLAIRTON 1 100 0.2 ] e = 400 O 1, waEE
BLAIRTON 1 100 0.2 = & 15 400 0,973 H.11%
BLAIRTON 1 100 0.3 3 15 st 400 2,587 11,780
’ ; BRINKERTON 1 100 0.2 3 Q 3 400 Q.0EY, 0425 0,400
T OOPRTE BRINKERTON 1 100 0.8 e 3 2 400 0,287 1,982 0,800
QO9ETC : BRINEERTON 1 100 O.= 3 = 18 400 0O Falle
TUOOPEUR RUB BUCHANAN 1 100 O.® 3 ] 400 Q 1.9&%
DOYBUC BUC BUCHANAN # 1100 Q.2 3 & 15 400 ©
QO?RUWER BWB BUCHANAN 1 100 Q.2 3 2 = 400 O
QOPEWC BWC EBUCHANAN 1 100 0.8 3 =2 185 400 0O, 9% [
007BWD EWD BUCHANAN 1 100 0.8 3 ig 25 400 2,859 11,720
' DOYCAR CAE CALVIN 1 100 0.8 3 3 2 400 0,287 A s
i JOPCAC CAC CALVIN i 100 0.2 3 k] 15 400 O.99%1 7 B, 119
G ¢ O0PCAD CAD CALVIN 1 100 G.2 3 15 Z5 100 400 Z.55%  11.720
VOYCKE CkR CLARESRURG i 0.8 = 3 = 100 400 0,287 1LPEE 0819
0OYDE.C DEC DYSTROCHREFTS 1 Q.8 = 15 100 400 0.921 - B.LIYERRIR ERRD
Co9DKC DEC ROCE, QUTCROP “ Q.8 100 4O0ERROR ERROR ERROR ERRD
OOFDEE DEE DYSTRUCHREFTS 1 Q.8 25 25 100 400 5,220 O.444ERRDOR ERRO
" 00YDKE DKE ROCE GUTCROF Z 0.8 100 A00ERROR ERROR ERROR ERRD
C O0PDKF DEF DYSTROCHREFTS i 0.8 jels] A5 100 40010, 222 20.400ERRDOR ERRD
COPDKF DKF ROCKE, OUTCROF 2 0.5 100 400ERROR ERROR ERRIOR ERRD
O09DUE  DUE DUFFIELD 1 0.5 4 = 100 400 5 3 =
OOPELR ELE ELLIBER 1 3= 3 i k= 100 400 ] 2
OOPELC ELC ELLIEBER 1 0.2 e = 100 400 1.18 CE
009ELD ELD ELLIEER 1 0.2 = 185 100 400 1.1: 1
O0ZELE ELE ELLIEBER 1 0.5 & Z58 100 400 1. 1
GOPERE ERE ERNEST i 0.2 3 ] 100 400 e Z
GOPERC ERC ERNEST 1 0.2 = ] 100 400 . Q0.447 1
COOYHER HER HAGERSTOWN 1 0.2 4 e 100 400 1,285 0,200 =
OOYHEC HEC HAGERSTOWN 1 0. 4 = 100 400 | E.119 0,800 i
QOYHGEC HGC HAGERSTOWN 1 Q. 4 = 100 400 B, 119 Q.200 i
OOPHED HEGD HAGERST N 1 0.8 4 1% 400 0 1
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1 100
1 100
i y
QOUTCROF & ]
LAIDIG 1 0.3 4 400 =
LAIDIG 1 = 4 400 1
LAIDIG 1 ] 4 1
LAIDIG 1 0. 4 =
LAIDIG 1 = 4 1
LAIDIG i = 4 i
WESTMIRELAND 1 = e i
ELINESVILLE = ] = |
L2EDELL 1 & R =)
1 4 =
1 4 1
1 b 4 1
1 = 4 R 100 400 1
1 2 4 clid 100 400 1
i = 4= = (0] = 400 e
QFMHE MERTZ 1 B 4 ] @ 400 =
FMHC MERTZ 1 = 4 b= 15 400 1
FMOA MONCONGAHEL A 1 2 ] 400 =
QOZMIR MONCNGAHEL A 1 0.3 = ] k] 400
OOPMRE MORRISON 1 = 3 o =] 400
GOPMRC MIOJRR ISON 1 = 3 = 15 400 =
QOYMRD MCRR ISON 1 = e 15 5 400 1
QOYMSC MORRISON 1 = a o 15 400 -
QOPMSD. MORR I S0ON 1 5] =2 15 =5 400 1
009MTE MORRIS0ON 1 2 2 2 a B 400
QOIMTE MURRILL = ] 0.28 4 ] o 400 =
QOYMTC MORRISON 1 ] 0,17 ] = 15 sla =
QOIMTC MURRILL = = Q.28 4 b= 15 1
OOZMTD MCRRISON 1 0.5 0.1 ] 15 =5 400 1) 1
MURRILL z 0.8 0,28 4 15 ] 400 1 1
MURRTILL 1 0.2 4 = o 400 ]
MURRILL 1 0.8 4 b= 15 400 L 1
MURRIIL.L 1 0.3 4 15 =8 400 11 1
NOLIN 1 0.8 5 O 3 400 T, ]
DFEQLIIN 1 =] 1 K] = 400 . 1
HAGERSTIWN = (g 4 ] o 400 . Z
CHEQUON 1 [ i = 15 400 R 1
HAGERSTOWN z = 4 k= 15 400 = i
| OOYIFD DFEQUCN 1 = 1 15 e 400 1 1
QOOFD HAGERS TN b 2 4 15 400 1 1
OFE OFEQUON 1 B 1 et o 400 p 1
OFE HAGERSTOWN b =] 4 Pt 400 1
FH FHIL.O i =] 5] 0 ] 400 “
FF B 1 = 5] 8] ]
Fs FURDY 1 = E Q = Q. 447 3
TGEA TYLER 1 = [aT:) ] 0 2 100 400 0,447 ]
TGE TYLER 1 =] =728 ] e = 100 400 s
UDF UDORTHENTS 1 ] i 45 100 40010 1
LE UDORTHENTS 1 0,3 = 25 100 400 5 1
VDF VANDERL. IF 1 0.8 4 ) 40010288 01 1,707 1
N VDF ROCKE QUTCROR z 0.2 AOOERROR  ERROF ERROR ERRDO
WHE WHARTON 1 = I o 100 400 0. 0. =
WHC WHARTCNM 1 & e 15 100 400 O B.il? 0,624 i
- [l WFE TEERT 1 [T g ) o 4 vy A M oAy e oapr 1
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